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The figures in the margin indicate
Jull marks for the questions.

. Answer the following as directed :
1x7=7

(@) The oscillatory movement of the time
series, having the period of oscillation
more than a year is termed as
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(i) (Choose the correct option)

(c) In the time series 2,0,-2,0,2,0,
~2.0,2 all the four yearly moving
AVETAZES ATC ..oovvnevnees

(Fill in the blank)

(d) Variate difference method is used for
determining

(i) tend
(i) seasonal
(iii) cyclical
(iv) random component
(Choose the correct cption)

(e) Purpose of measuring seasonal
variations is
() to have the knowledge of past
behaviour

() to forecast the short-time
[luctuations

(i) to eliminate seasonal variations for
measuring cyclical fluctuations

(iv) to project the past into future as
a long-term forecast

(Identify the incorrect option)
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(f)  The method of least squares Llscq to fit
the trend of a time series is applicable
only when the trend is
(i) linear
(i) parabolic
(i) Both (i) and (i)

(iv) Neither (i) nor (ii)
(Choose the correct option)

(9) Simple average method is used to
calculate ............. indices.

(Fill in the blank)

2. Answer the following questions in brief :
2x4=8

(@) Which component of the time series is

mainly applicable in the following
cases ?

(1) Increase in money circulation

() An increase in employment of
labour during harvest time

(ti)) Recession

(itv) The expenditure of political parties
in the days of election
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(b)

()

(d)

Define time Sseries and give its two

examples.

Why is the multiplicative model used
most commonly, as cor.npared.to
additive model, in the time series

analysis ?

Explain in brief the uses of time series
analysis.

Answer any three of the following
questions : ox3=15
(a) Explain in brief various components of

(b)

(c)

a time series with suitable illustrations.

Mention different types of mathematical
curves used in fitting trends to
cconomic time series. Also indicate the

procedure for fitting an exponential
trend to time series.

How can the annual trend equation
Y=a+bt be converted to

(1) monthly trend €quation ?

(W) quarterly trend equation ?

(iti) half-yearly trend equation ?

4

4
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(d)

How to find out the trend by the

(i) graphic method ;

(i) semi-average method ?

Also write the merits and demerits of

semi-average method.

How can the ratio to moving average
method be applied for computing the
seasonal indices ?

Answer the following questions 10x3=30

4. (a)

(b)

Describe the method of moving averages
for estimating the trend in a time series.
Discuss its merits and demerits. Also
mention the uses of trend analysis.
10

Or

Show how the moving average method
of determining the trend of a time series
is related to the method of fitting curves
by the principle of least squares. 10
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(@)

(b)

(@)

(i) Describe the method of link

relatives for finding seasonal
6

indices.

(i) What do you mean Dby
deseasonalisation of data ? Explain
in brief the procedure of finding

the deseasonalised values from a

time series. 4
. Or

Describe briefly a method for the study
of the random component of a time
series, bringing out clearly the
assumptions under which it is
applicable. Also estimate the variance
of the random component of a time

S€ries. 10

Describe different methods for

measurj ' iati i '
suring cyclical variation in a time
series, 10
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Or

(b) Write short notes on the following :
5+5=10

(i) Correlogram

(i) Exponential smoothing
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